Il liceo Classico P10 XI
Esercitazione di Matematica

Risolvi le seguenti equazioni goniometriche:

a) 2sinr+ 3 =2(1 4+ 2sinx)

b) 3 —2cosz =2(1 — 2cosx)

¢) 2—4/2sinz =242sinx+ 5

d) 2(tanz — 1)+ 3 =tanz + 1+ /3

e] 2(tanr+1)+3(1l —tanz) = —2(tanr — 1) + 4

a) sin?r —+/3sinzcosz =0

h) cos?®z —+3sinzcosz =10

¢] 2sinrcosT 4+ cos? +sinfx =0
d) sin®z — 3coslz =0

o] 2sin? 4+3sinzcosz =2 + cos?
v = 3 2 .

f] sin“r — cos= +2sinzxcosz = 1

ey Tsin’x — Ssinzcosz =2 — 2cos? z

a) 2e082z —1=0
b) 2sin’ r — sinx = 0
¢] 3tanz —tan?z =0

d) 4sin®z — 8sinz —5=0



